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(a) 522 EEF 145 (Competitive market)
(b) FEFIEZER (Pareto efficient)

(¢) Nash £ < (Nash equilibrium)
(d) JHBEEYEREE(CP)

(e) GDP Figkig#: (GDP deflator)

(f) #MERME (Externality)

(g) T B4 (Gini index)

(h) ;2 ENPESR (Floating exchange rates)
(i) 33EHE (Adverse selection)

() HE{EE (Moral Hazard)
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(2) E— A2 BIHBITS  REREESFENDE?

(b) HE— R TR R EER R R A?

(c) SFEHRPERAIT & (Paradox of thrift) -

(d) SEEREALLEFI 28R (Comparative advantage) -
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1. (30 pts) Let f(x) = —

1—x2"

QUIDL ISP X -5 L X  V]

Please answer the following questions:

(a) Whereis f increasing and and where is f decreasing?
(b) Whereis f concave-up and whereis f concave-down?
(c) Find all local maxima and local minima of f.

(d) Find all inflections points of f .

(e) Find all asymptotes of f .

(f) Sketch the graph of f'.

2. (20 pts) Use Lagrange’s method to find the interior solution of the following

problem:

max (Inx3y)
Xy
st x+ 2y = 20.

3. (50 pts) Compute the following problems:

x

(3,) f(X) = m Find f,(l)

oF

_ 2=2 g O
(b) f(x) = (2x + xy*)~2. Find = and 3y

(¢) Find [ In(2x) dx.

(d) Suppose +/2x + xy? = In(xy). Find g.

10
(e) Find lim =,
x—oco €
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1. ERLEEHEE 200 ZEE > SEBRENRARBERTC=10+3g+q"  THBNE
KeuBR 0 =250-10P » QElq sy R ATHBEERMRENEE » HKE
(B B IRE P E FE B AL 4G er BB (=R (B 5 R A 7 (5%)
Q)T B BB E ER S RE D 7 (T%)
CYERRENFIERZ ) ? WRREEE A GRENSE 7 BATE? (8%)

2. (DT RopEEs B R B FER R
Max U(X,Y) stPX+PY=1
[=Fif& » Py (P )=X (Y)EY(EE » X BFEMEIRFSH > Y RIEFER - LX MER
Tk FIFERihGHETEEGEERES X IFRKER BB RREREECR © (10%)
QEHEES - X @Y AR BEHEHSR 2 EX B3 EY - FIHEARR 200
JC Py =1 P, =2 > BB ARTRH KB 7 SRRV S AT 7 (10%)

3EREF - ZMARELA ~ B » C ARIKRHSH Z

i (payoff)2 - FESEPIZECE)HI AR (Z) 2 4 A | B | ¢
> FIAERBUAR - SBEIE T5IRRE > K A 104 | 36 | 87
B ERA F5140 H| B @n | 684 | (5.3)
(I A BB EZ S (dominant strategy) C &7 | 63 | 9.4

BRI Ry e 7 By(HTEE ? (5%)
(2)Nash %7 Refe] 7 RefTFE 7 (5%)

4, BEES=-100+025(Y -T) » $¥E [ =60+0.057 > BUFZH G =80 > FAIRT =80
(1)kf# LAl B S SRS B ATS S TR R REL  (10%)
QBT BEEHIFRE B 1000 Jttﬁ—*rﬂ BEO ? BROANRZ D 7 (5%)

5. SIETAERRT Phillips #h 4R R BUM B HIRBORE BT AR -
r=-u-006)+7°: Q=—(u+2577)
RTESESFEERRERET
(WILEFEAKRERE S /D ? BT ? (4%)
QA BIEEFA—B(%) ? FERFA—E > BIFREN 7 B Q7R R%/6%) 7
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T ARAE: 2 A(AEAE > H)

B @EL(SEREHES . BEEEE) R 8EZER HFm =

6 —Fr i R B . EEBY = WKL - EAITERE 6%  ACRERR 4% £
BRE 0% GARKL=K/L ARGy =Y/L  Ki:
()RR SR steady state)IHE A - 45N HELRE BB MM (B B © (8%)
()3 4 (polden rule) IR NEA - HSEIEEERIE N - (12%)
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1. (30%) HEEEBELATHEEREENAT AR H - IRE—HERIERTE
HIHhEEERE  BERADAT  ZATNERRTBEERR20% » SHEEEE 0 HiE
BEREZETY o BT R T TR AR S &400 » 50K
1LEBE4RT - ZATTBEEZRN % EHEEH -
2BEEEER RO T HBIEEENIS B EEERE -
3N TEITBIEE R E A EN T ENVEIES 78095 % ERHEER -

2. (30%) FEURT EREEH B ERTFERERORSERE LEREY)FRR? Hist
10288 B 7 BEERHERESSEREER > WS ERE

>x=178 > > ¥Y=138 > > (X-X)?=12025 » D (Y-¥)>=5456 -
M (F-7)>=3.53512+ Y (X -X)(¥-7)=652

1. SAEEEFELR -
2. FBERBIRFTS I REL -
3. iEETELH E (%8 (coefficient of determination) ©

320%) EAIX R— NN 1 Ea 2 MV ESK » YE—HEER2ZERSEK B
P(X>2)=2P(Y>2) r &RazH -

4. 0%) A A BIEE N S IEAERAS —EHTEE - FRETFEERIRA R100E3:7T » HRH
AIBBERSOEXTRBANENER - LEEBRRIINEERK0.2 -
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z .00 .01 02 .03 .04 .05 .06 .07 .08 .09

0.1 0.0398 0.0438 0.0478 0.0517  0.0557  0.059 0.0636 0.0675  0.0714  0.0753
0.2 0.0793 0.0832 0.0871 0.0910  0.0948  0.0987 0.1026 0.1064  0.1103 0.1141
0.3 0.1179 0.1217 0.1255  0.1293 0.1331 01368  0.1406 0.1443 0.1480  0.1517
0.4 0.1554 0.1591 0.1628  0.1664  0.1700 01736 01772  0.1808 0.1844  0.1879
0.5 0.1915 0.1950  0.1985 02019 02054 02088 02123 02157 02190 02224
0.6 0.2257 0.2291 02324 02357 02389 02422  0.2454 0.2486 02517  0.2549
0.7 0.2580 0.2611 0.2642 02673 02704 02734 02764 02794 02823 02852
0.8 0.2881 02910 02939 02967 02995  0.3023 0.3051 03078 03106 03133
0.9 0.3159 03186 03212 03238 03264 03289 0.3315 03340 03365  0.3389
1.0 0.3413 03438 0.3461 0.3485 03508  0.3531 0.3554 03577 03599 03621
11 0.3643 0.3665 03686 03708 03729 03749 03770 03790 . 03810  0.3830
12 0.3849 0389  0.3888 03907 03925 0394 03962 03980 03997  0.4015
13 0.4032 0.4049  0.4066 0.4082  0.4099 04115 04131 04147 04162 04177
14 0.4192 0.4207 0.4222 0.4236 04251  0.4265 0.4279 04292 04306 04319
L5 0.4332 0.4345 04357 04370 04382 04394  0.4406 0.4418 04429  0.4441
1.6 04452  0.4463 04474 04484 04495  0.4505 0.4515 0.4525  0.4535  0.4545
L7 0.4554 04564 04573 0.4582 04591  0.4599 0.4608 0.4616 04625  0.4633
1.8 0.4641 0.4649  0.4656 04664 04671 04678 04686 04693 0.4699  0.4706
1.9 0.4713 04719 04726 04732 04738 04744 04750 04756 04761  0.4767
2.0 0.4772 0.4778 0.4783 0.4788  0.4793 04798  0.4803 0.4808  0.4812  0.4817
2.1 0.4821 - 0.4826 0.4830 04834 04838 04842 04846 0.4850  0.4854  0.4857
22 0.4861 0.4864 0.4868  0.4871 0.4875 04878 04881 0.4884  0.4887  0.4890
2.3 0.4893 0.4896 04898  0.4901 0.4904 04906  0.4909 0.4911 04913  0.4916
2.4 0.4918 04920 04922  0.4925 0.4927 04929  0.4931 0.4932 04934  0.4936
25 0.4938 0.4940  0.4941 0.4943 0.4945 04946  0.4948 0.4949  0.4951 0.4952
2.6 0.4953 0.4955 0.4956 04957  0.4959 04960  0.4961 04962 04963  0.4964
7 0.4965 04966  0.4967 04968 04969 04970  0.4971 0.4972 04973  0.4974
28 0.4974 0.4975 04976 04977  0.4977 04978 0.4979 04979 04980  0.4981
2.9 0.4981 0.4982 0.4982 04983 04984 04984  0.4985 0.4985 0.4986  0.4986
3.0 0.49865 0.49869  0.49874 049878  0.49882  0.49886  0.49889  0.49893  0.49897  0.49900
3.1 0.49903 0.49906  0.49910 049913  0.49916  0.49918 049921  0.49924  0.49926  0.49929
3.2 0.49931 049934  0.49936 049938 049940  0.49942  0.49944 049946  0.49948  0.49950
3.3 0.49952 0.49953  0.49955 049967  0.49958  0.49960  0.49961  0.49962  0.49964  0.49965
3.4 0.49966 0.49968  0.49969 049970  0.49971 049972  0.49973 049974  0.49975  0.49976
3.5 0.49977 049978  0.49978  0.49979  0.49980  0.49981  0.49981  0.49982  0.49983  0.49983
3.6 0.49984 0.49985  0.49985 049986  0.49986  0.49987  0.49987  0.49988  0.49988  0.49989
3.7 0.49989 0.49990  0.49990  0.49990 049991  0.49991  0.49992  0.49992  0.49992  0.49992
3.8 0.49993 0.49993  0.49993 049994 049994  0.49994  0.49994 049995  0.49995  0.49995
3.9 0.49995 049995  0.49996  0.49996 049996  0.49996  0.49996  0.49996 049997  0.49997

4.0 0.49996832

4.5 0.49999660
5.0 0.49999971
5.5 0.49999998

6.0  0.49999999
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